2 HET AKX

BRIEHE
1 FEIT. COBEDBE -RLWEEBALEATWET M
2 FHEIT BEBRBACERE-BEET. COBETEA-MNE- -2 EFHTS
HWEE 52 TONETH
3 COBEIZI TEAPEREORLEZERELTOETH
4 COREICEREYDFECEEZEZL > TRYHEATHNET M
BfE4 HTIEES B4 HTIEFEZ+POHETIEFES
1 5102 % 258 9181 4
281 ' 281 e
Bl (B2 |BR3 BRIl B2 |ER3
LTIXES 167 | 162 | 165 LTIFES 203 | 191 | 175
PPYETIEESD 7 12 7 POYUTEES 50 64 74
HFEYHTIEES AL 0 0 2 HEYLBTIFESAL 5 3 9
LTRFELHWL 0 0 0 LTRHELGL 0 0 0
100% 100% T pmmm— E—
80% |— - 80% [ .
60% (— — 60% -+— —
40% — 40% -+ —
20% (— — 20% +— —
0% 0% T T |
B B2 B3 =1l =ip) B3
B4 POHTEFEDS B4 T
84 , 281 .
—gp— 2989 % Sep— 100 %
Bl B2 &3 | Bl B2 &3 |
HTIRES 36 29 10 L“TIXED 210 | 199 | 181
HOPLTEED 43 52 67 OPLTEED 60 74 80
HFEYITIEESLHEL 5 3 7 HEYLTIEESLHLY 10 6 19
BTEELAL 0 0 0 HTIRHESHL 0 1 0
80% ||l BN 80% |1l -
60% — - 60% -
40% -—. — — 40% +— —
20% +— — 20% +— —
0% 0%
B B2 B3 B B2 =i5E]
BERIEES FoSABE (AT, 8RB, RS 3—%) (F&RIBFEL=M
b A et '] %
ot AWCERI ST 8.2
e HAHREERILT- 16.4
EBLELE R 12.8
HEYEILF-Hh o1 2.8
B f-tahot= 1.8
EeSniE Motz 58.0




2FHET HEB

EfEE
1 FEF COREDBFE-ROVESBALEATVHET A
2 FEL BRBFEACRE-BEET. CORXTRALNRE - RETZEATS
BSES5ATLFETH
3 COEXRICI-OTENPREDNR EZRELTLETH
4 COERXICAENBYDREPLEREEL>TRYMHATHET M
B4 HTEFEDS B4 HTEFEH+OOHTIFES
— 190 6762 4 287 95.02
281 oo 281 o
Bl (B2 |E/R3 Bl |EM2 |EM3
LTEED 178 | 177 | 182 LTIEES 211 | 218 | 206
POIETEFES 12 12 7 POETEES 52 46 54
HEYHTEELBWL | 0 1 1 HFEYSTEFESRBL | 4 3 7
LTEFELHL 0 0 0 LTEFELHL 0 0 0
100% — 100% — E—
80% || - 80% || ) -
60% —f S 60% +— —
40% |— — 40% +— —
20% —f — 20% -+ —
0% 0% T T 1
1 B2 3 B B2 HRE3
B4 POETEES B4 3T
77 . 281 .
—gr— 274 % Se1— 100 %
Bl |82 [BRM3 g1 B2 (B3
LTEFED 33 | 41 [ 24 LTEED 214 | 223 | 211
OPLTEFES 40 | 34 | 47 PPUTEFED 61 | 54 | 62
HEYITEFELLEL 4 2 6 HEYITFELAEL 5 4 8
LTEFELHL 0 0 0 LTEFELHL 1 0 0
00% T P O 100% 1 p— —
80% 1—{ 1] S IR . 80% .l L RTINS
60% ||l ) - 60% | -
a0% — 40% +— —
20% +— - 20% +— -
0% ; ; . 0% ; ;
i B2 B3 B B2 B3

BRIERS AUSAUREGAT.HE. RFMFVa—%F) FRILELD

%
RKWNZZRIT-T- 14.2
HAHEERI-T= 26.0
EBLELE R 17.4
HEYEILF-Hh o1 5.0
B f-tahot= 2.8
EeSniE Motz 345




